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The test device for 32 resistors




The test circuit
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Voltage at resisors
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Test results

Problem?
Batch 1 '
No pre-test. We have it setup so that
Ramped up in 5kV steps to 150 kV. Several sparks (noise). the FT *should* touch the

50 Pulses at 140 kV. Several sparks. device contact point
All resistors mechanically and electrically ok in post-test. )

Batch 2 If it does not touch there

No pre-test. is a point for sparks and
50 Pulses at 140 kV. Several sparks (noise). the resistors could see a

One resistor (#32) broken. -
higher voltage than we

Batch 3 think?
Pre-test. All ok.

Ramp up to 140 kV in 20 kV steps. No sparks.

50 Pulses at 140 kV. Many and huge sparks! Tripped.

Resistors 10 and 11 mechanically broken. Resistor 5 broken encapsulation.

Batch 4

Pre-test. All ok.

Ramp up to 20, 40, 60. Sparks at 60.

Ramp up to 80. Sparks. 50 pulses at 80. Few sparks (< 5).

Ramp up to 100. Sparks. 50 pulses at 100. Lots of sparks.

6 resistors mechanically broken at 100 kV (i. e. 30 kV at resistor)



